MATHS

BOOKS - KC SINHA MATHS (HINGLISH)

DEFINITE INTEGRALS - FOR BOARDS

Solved Examples

1
1. Find / (4m3 + 322 — 22 + 1) dzx
0

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_YC273tZ368mm

/4
2.  Evaluate: / v/ 1+ sin2zdx
0

/4
/ /1 — sin2zdx
0

(ii)

° Watch Video Solution

us

2
3. Evaluate: / cos® zdzx
0

° Watch Video Solution

P
4, Evaluate:/ sin® zdx
0

| &


https://dl.doubtnut.com/l/_sTzlWFcJEZqQ
https://dl.doubtnut.com/l/_JZP8bCKOSRcS
https://dl.doubtnut.com/l/_hMvvTpwT0Zve

| ¥ Watch Video Solution

5.Find/2 da,:
o l-+sinz

o Watch Video Solution

, 1 dx
6.F|nd/
0 Ve +1+4/x

o Watch Video Solution

V2
7. Evaluate / V2 — rldx
0


https://dl.doubtnut.com/l/_hMvvTpwT0Zve
https://dl.doubtnut.com/l/_qZIEFEMjeXxl
https://dl.doubtnut.com/l/_VtchuBKwSUkB
https://dl.doubtnut.com/l/_vRapM6EUhdH8

° Watch Video Solution

4 1
8. Evaluate: / dzx
0 vV +2zx+3

o Watch Video Solution

2 COS T
9. Evaluate / —dzx
o l+cosz+sinx

° Watch Video Solution



https://dl.doubtnut.com/l/_vRapM6EUhdH8
https://dl.doubtnut.com/l/_zmlqHfbiJpgr
https://dl.doubtnut.com/l/_8otwZZzDdSB9

a /2
10. If / \/Eda: = Za/ sin® zdz find the
0 0

a+1
value of integral / xdx-
a

o Watch Video Solution

11. Find the value of/ 2 coS T dx

0 (1+sinz)’

° Watch Video Solution

12. Find/ \/a,2 — z%dx
0

| N I


https://dl.doubtnut.com/l/_Q5BYUIeMV8Ef
https://dl.doubtnut.com/l/_8vA1SvgWKR89
https://dl.doubtnut.com/l/_E41ocD58schJ

| ¥ Watch Video Solution

1 1 —=x
13. Evaluate dx
0 1+

° Watch Video Solution

1
(e — )’
14. Evaluate / 1 dx
1 T

° Watch Video Solution

¢ cos(log. x
15. Evaluate / ( wge ) dzx
1


https://dl.doubtnut.com/l/_E41ocD58schJ
https://dl.doubtnut.com/l/_4QZVC2bvDMv8
https://dl.doubtnut.com/l/_OuMHq744Xiva
https://dl.doubtnut.com/l/_7a5iCsuTfyzW

° Watch Video Solution

The value of the

dzx

/ \/x—a B — )

integral

° Watch Video Solution

-1

7 sin” " x
17. Evaluate: / —dzT
0 (1 _ ag2)5

° Watch Video Solution



https://dl.doubtnut.com/l/_7a5iCsuTfyzW
https://dl.doubtnut.com/l/_jBR1Wya9rC1P
https://dl.doubtnut.com/l/_UiSFNtXOklhE
https://dl.doubtnut.com/l/_23AqlemQjHxz

L 1 2x
18. Evaluate: sin dx
0 ]. + .’132

° Watch Video Solution

s

4
19./ 2tan’ zdz = 1 — log 2
0

° Watch Video Solution

20. Evaluate the definite
/7r 7T sinx + cosx

— — dx
6 3 \/sin 2x

integrals

o Watch Video Solution



https://dl.doubtnut.com/l/_23AqlemQjHxz
https://dl.doubtnut.com/l/_Dy7WuDbQIGXV
https://dl.doubtnut.com/l/_DQW7r7q9OfHo

21. Evaluate the  definite integrals

T silnx + cosx
4 9+ 16sin2x

o Watch Video Solution

2 sin 2x
22. Evaluate: / 7 dzx
0o sin*x + costz

o Watch Video Solution

2 1
23. Evaluate: / dzx
0

2cosx + 4sinx



https://dl.doubtnut.com/l/_DQW7r7q9OfHo
https://dl.doubtnut.com/l/_5xehzHuKFOo2
https://dl.doubtnut.com/l/_Kl4Qt7nJ4xTq
https://dl.doubtnut.com/l/_CaEXKodzI2m8

° Watch Video Solution

24.Find / z sin® zdx
0

o Watch Video Solution

2
25. Evaluate/ sin 2z tan ' (sinz)dx
0

o Watch Video Solution

re’

26. Evaluate /—2d:13
(1+ )


https://dl.doubtnut.com/l/_CaEXKodzI2m8
https://dl.doubtnut.com/l/_ALdq6QLTEa6W
https://dl.doubtnut.com/l/_s99Tf2hKBsN0
https://dl.doubtnut.com/l/_cWlMKk1C94SG

° Watch Video Solution

3 1+ sinx
27. Evaluate / e’ ( )dac
B 1+ cosx
3

° Watch Video Solution

3
28. Find the value of the following: / r2de
2

° Watch Video Solution



https://dl.doubtnut.com/l/_cWlMKk1C94SG
https://dl.doubtnut.com/l/_5rgu8kkDkx3r
https://dl.doubtnut.com/l/_eaL51TANikVf

1.Find/2 . e . dx
o (14 sinz)(2+ sinz)

o Watch Video Solution

3
1
2. Find the value of the following:/ —dzx
5 T

o Watch Video Solution

3. Find the value of the following:

/_1 (z + 1)da

1

l @ Watch video Solution


https://dl.doubtnut.com/l/_cUbKh47I2uuQ
https://dl.doubtnut.com/l/_02yr1wxYeQh6
https://dl.doubtnut.com/l/_wSd1DvbNH4VL

4. Evaluate the definite integrals

/12(4:133 — 5z% + 6z + 9) dx

° Watch Video Solution

dzx
1+ x2

1
5. Find the value of the following: /
0

o Watch Video Solution



https://dl.doubtnut.com/l/_wSd1DvbNH4VL
https://dl.doubtnut.com/l/_AU5A7SUYaen5
https://dl.doubtnut.com/l/_7jEK3d7967vA

6. Find the value of the following:

1
/ dx
0 1 — z2

o Watch Video Solution

5
7. Find the value of the following: / e“dx
4

° Watch Video Solution

T
8. Find the value of the following:/ tanxdx
0

l €@ Watch video Solution


https://dl.doubtnut.com/l/_HMWd0TdoTNVp
https://dl.doubtnut.com/l/_hznKnl7KSNfd
https://dl.doubtnut.com/l/_bai45pUC2fj2

9. Find the value of the following:
T

/coseca:da:

6

O Watch Video Solution

10. Find the value of the following:

/% dx
0 4—|-9£C2

o Watch Video Solution



https://dl.doubtnut.com/l/_bai45pUC2fj2
https://dl.doubtnut.com/l/_RSwmUkbDogQF
https://dl.doubtnut.com/l/_CCbRDD5GrJsq
https://dl.doubtnut.com/l/_6QdQfERC5d3j

11. Evaluate the following definite integral:

1 1
/ dx
122+ 2x+5

o Watch Video Solution

12. Evaluate the definite

n 2 3
/04(2sec T+ T +2)d:c

integrals

o Watch Video Solution



https://dl.doubtnut.com/l/_6QdQfERC5d3j
https://dl.doubtnut.com/l/_RiuKlvUHVLPb

13. Find the value of the following:
(s (5) - o (5)2

/0 (sm (2 cos”( 3 x

o Watch Video Solution

14. Find the value of the following:

IR 9
/ (aﬁ + 1) dzx
0

o Watch Video Solution



https://dl.doubtnut.com/l/_zjvIBSOwYqhH
https://dl.doubtnut.com/l/_nUgBe41l8YZs

15. Find the value of the following:

7
/ \/9+ xdx
0

o Watch Video Solution

16. Find the wvalue of Q, where

0 3B

- = JCEDNCA

o Watch Video Solution



https://dl.doubtnut.com/l/_CjdZM424d35o
https://dl.doubtnut.com/l/_eL46ElJLYULv

17. Find the value of the following:
/f 1 + sin2x
——dx
o COSX + sInx
o Watch Video Solution
18. Find the value of the following:

6
/ cos x cos 2xdx
0

o Watch Video Solution

19. Evaluate: /:os?’ 3z dx


https://dl.doubtnut.com/l/_IQXu7dJQDhcO
https://dl.doubtnut.com/l/_vgPmDoRqzH0e
https://dl.doubtnut.com/l/_NO3ljGETlFIj

° Watch Video Solution

20. Find the value of the following:

/ 2 cos ec26 cos 0db

° Watch Video Solution

21. Evaluate the  definite integrals

T
/Oicos 2xdx

° Watch Video Solution



https://dl.doubtnut.com/l/_NO3ljGETlFIj
https://dl.doubtnut.com/l/_tela2jrj6ED0
https://dl.doubtnut.com/l/_KtIVysRIwzuE

22.1f I:/4 dz
0 1 + cos 2x

Find the value of 27

° Watch Video Solution

23. Find the value of the

/2 v/ 1+ cosxdz
0

following:

o Watch Video Solution



https://dl.doubtnut.com/l/_TsnRRBxQG53p
https://dl.doubtnut.com/l/_LGnjYLdvRvWi

24. Find the value of the following:
/f dx

g 1—sinz

o Watch Video Solution

25. Find the value of the following:

/2 v/ 1+ cosxdz
0

o Watch Video Solution

0
dzx
26.
/_1 V3r+4—+/3x+9



https://dl.doubtnut.com/l/_BZAT2oMixfGh
https://dl.doubtnut.com/l/_kPtOrJNYr18S
https://dl.doubtnut.com/l/_IWlccdQAiqXA

° Watch Video Solution

™

27./ 2 (1+ sinz)® cos zdz
0

o Watch Video Solution

28./ 2 (a + bsin @)’ cos Ad6
0

o Watch Video Solution



https://dl.doubtnut.com/l/_IWlccdQAiqXA
https://dl.doubtnut.com/l/_JJlAoXEZCyoD
https://dl.doubtnut.com/l/_maA6iMcoX2Te

U

20, / G
o l-+sinz

o Watch Video Solution

™

30. / ' sin® 2t cos 2tdt
0

o Watch Video Solution

31./2 \/sianos5 6do
0

° Watch Video Solution



https://dl.doubtnut.com/l/_9NFcEKuOSj9o
https://dl.doubtnut.com/l/_3Judi2xm9oB2
https://dl.doubtnut.com/l/_mjX4zBxlPZMa

U

2
32. / sin z cos® zdzx
0

o Watch Video Solution

% secrtanx
33./ dx
o 1+sec’z

o Watch Video Solution

s

34./2 e
0 +/1+sinz

° Watch Video Solution



https://dl.doubtnut.com/l/_jFNt0wIcPygv
https://dl.doubtnut.com/l/_AjwMRpnRnLBu
https://dl.doubtnut.com/l/_yzeqHOnojOZf

3
35./ \/cos z sinxdx
0

° Watch Video Solution

2 5
36. / cos’ zdx
0

o Watch Video Solution

P 2
37. sin” x cos” xdx
0

o Watch Video Solution



https://dl.doubtnut.com/l/_yzeqHOnojOZf
https://dl.doubtnut.com/l/_wXZvrSRNHZ9z
https://dl.doubtnut.com/l/_5WOFWKHakAsn
https://dl.doubtnut.com/l/_XtOEJs8AhZYt

i 2
38./ tan3 z sec? zdx
0

o Watch Video Solution

N

39. / sect zdx
0

° Watch Video Solution

N

40. / tan® zdz
0

l o Watch Video Solution


https://dl.doubtnut.com/l/_XtOEJs8AhZYt
https://dl.doubtnut.com/l/_Ydb7yd5dSru5
https://dl.doubtnut.com/l/_hGGC2f5MxpbY
https://dl.doubtnut.com/l/_7GECKw9dgOpb

41./4 (tanz — z)tan® zdx
0

° Watch Video Solution

a tan
42./ , dx
g Sinx + tanx

o Watch Video Solution

4 2
43 0" 1 4.
2 /23 —x — 2



https://dl.doubtnut.com/l/_7GECKw9dgOpb
https://dl.doubtnut.com/l/_8WurF6uGBvWC
https://dl.doubtnut.com/l/_ORZEHwts0HVh
https://dl.doubtnut.com/l/_q9HFhaIljfCF

I &9 Watch Video Solution

L dzx
44./
0 41— x2

o Watch Video Solution

2
45./ T/ + 2dx
0

° Watch Video Solution

3
46./ v dx
2 332—|—1


https://dl.doubtnut.com/l/_q9HFhaIljfCF
https://dl.doubtnut.com/l/_6yzHWvc25bcl
https://dl.doubtnut.com/l/_p74HQLyZK3RI
https://dl.doubtnut.com/l/_vnewBhrJnfmA

° Watch Video Solution

2 2
47./ oL dx
1 x2+4x +3

o Watch Video Solution

1
48. / a:e“"zd:c
0

o Watch Video Solution

1
49./ (2:132 — S)nmdw
0


https://dl.doubtnut.com/l/_vnewBhrJnfmA
https://dl.doubtnut.com/l/_rK7JDBqaicAJ
https://dl.doubtnut.com/l/_g8czYlSeI0un
https://dl.doubtnut.com/l/_ExV1dLdjuPG6

° Watch Video Solution

1
50./ :133\/ 1+ 3zdzx
9

o Watch Video Solution

1 dzx
1 z22y1 — x?

51.

° Watch Video Solution



https://dl.doubtnut.com/l/_ExV1dLdjuPG6
https://dl.doubtnut.com/l/_igtbR5kuIJS6
https://dl.doubtnut.com/l/_6oLfVV9kpLLh

1 1
t
52./ WL ir
o 1+ x2

° Watch Video Solution

1 —z
53./ c dx
o 1+e€”

o Watch Video Solution

st [ Vioge

ogx
dzx
T

° Watch Video Solution



https://dl.doubtnut.com/l/_xxfctp3ly6HI
https://dl.doubtnut.com/l/_GAhMolcZQln0
https://dl.doubtnut.com/l/_c7oXi8I8SQNI

1 L1
; eSin oz

dzx
0 V1 — a2

55.

° Watch Video Solution

T
56./ x cos’ zdzx
0

o Watch Video Solution

3
57. / x sin x sin 2xdx
0

° Watch Video Solution



https://dl.doubtnut.com/l/_opOzGYPDZnYv
https://dl.doubtnut.com/l/_S9mP9mjn2sgJ
https://dl.doubtnut.com/l/_kiODd9MGag8N

T, .
58. x° sinxdx
0

o Watch Video Solution

Je
59. / x logxdzx
1

o Watch Video Solution

1
60./ tan ! zdz
0

° Watch Video Solution



https://dl.doubtnut.com/l/_XGtyt4ULy4hG
https://dl.doubtnut.com/l/_J3J9rgdK2sM3
https://dl.doubtnut.com/l/_cgygZQlH63N7

1
61. / rle®dr
0

° Watch Video Solution

3
62./ e *coszxdx
0

o Watch Video Solution

b
1
63. / ng dz
a €T

o Watch Video Solution



https://dl.doubtnut.com/l/_QmIQIOeo89Kz
https://dl.doubtnut.com/l/_naJrbAW03VOM
https://dl.doubtnut.com/l/_4Ixs1ThreB8H

64°/1 (z + 1)(z + 2) da

° Watch Video Solution

65./ ( a’® — x? + a:e"")daz
0

o Watch Video Solution

2
66./ dz
1 z(1+ x?)

o Watch Video Solution



https://dl.doubtnut.com/l/_H38pNzEyrjnv
https://dl.doubtnut.com/l/_UZ6Xo0lrszRi
https://dl.doubtnut.com/l/_z5iuZRRUlesQ




